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= 1,750,000
Xl 9,906,000
Al 7,174,339
S AR 18,579,540 20,974,344 A 2,394,804
= 1,750,000
X 9,906,000
Al 6,923,540
&b EEX] 22 4,953,000 101,500 4,851,500
Xl 3,467,000
Al 1,486,000
= NAMHEH A 4,953,000 0 4,953,000
Xl 3,467,000
Al 1,486,000
401 AIEHI L 201 4,953,000 0 4,953,000
Xl 3,467,000
Al 1,486,000
01 A& HI 4,554,000 0 4,554,000
O&FF XNAMALEHAE AlEH|
4,554,000,000& 4,554,000
Xl 3,188,000
Al 1,366,000
02 Zeltl 388,000 0 388,000
OHE NAMSMEAEY FoMA22y|
388,000,000 388,000
Xl 279,000
Al 109,000
03 AIE 2 0HHI 11,000 0 11,000
OFF XNALMHEHAE AlLRHY
11,000, 000& 11,000
g e NS 11,989,860 19,648, 144 AT7,658,284
= 1,250,000
Xl 6,439,000
Al 4,300,860
FFHALZcA B =5 X M 477,000 1,000,000 A 523,000
Xl 334,000
Al 143,000
401 AIEHI L 20 477,000 1,000,000 A 523,000
Xl 334,000
Al 143,000
01 A& HI 473,591 994,000 A 520,409
OFFHIALSCA SYE =& EIAY A&
=l 473,591,000& 473,591
Xl 334,000
Al 139,591
03 Al S THHI 3,409 6,000 A 2,501
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHFHIOCEcA 298 25 SAANY AA
I=ANN:| 3,409,000& 3,409
QEMIMAHR L2 AL 5,864,000 3,480,000 2,384,000
Xl 4,105,000
Al 1,759,000
401 AlEHIZ 201 Y| 5,864,000 3,480,000 2,384,000
N 4,105,000
Al 1,759,000
01 Al&H| 5,401,231 3,199,000 2,202,231
OLEMIAMIHX 432 AME Al&H|
5,401,231,000& 5,401,231
Xl 4,105,000
Al 1,296,231
02 2teld| 449,769 272,554 177,215
OFFINACT BLTIANE ML
Hl 449,769,000 449,769
03 AlE 201 | 13,000 8,446 4,554
OHRIMNACT BLZZAE ALY
13,000,000& 13,000
CEM2MA NS HE=SLH AL 1,762,115 10,550,000 N8,787,885
2 400,000
Al 1,362,115
403 XX SHS K20 & 1,762,115 10,550,000 N8,787,885
= 400,000
Al 1,362,115
02 2| 2SSt =2 e A HI 1,762,115 10,550,000 N8,787,885
OSM2MH MSHCHX H =X el & ARl 2 At
1,762,115,000& 1,762,115
= 400,000
Al 1,362,115
QEHM2MHE NS 2L S AL 2,142,000 1,600,000 542,000
Xl 1,500,000
Al 642,000
401 Al HIL 201 Y] 2,142,000 1,600,000 542,000
Xl 1,500,000
Al 642,000
01 Al&H| 1,988,970 1,486,040 502,930
OSM2MHUSIEHI 222 AIE Al&EH]
1,988,970,000& 1,988,970
Xl 1,397,891
Al 591,079
02 2teld| 145,870 108,960 36,910
OSM2MHE US| 222 AlE 22l
145,870,000 145,870
Xl 102,109
Al 43,761
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401 AIEHI 2L 2 0HY| 455,000 1,000,000 A 545,000
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Al 105,000
01 Al&H| 451,748 994,000 N B42 252
OFFHIALZ2IA HE=XAIE EXAE Al
AH| 451,748,000 451,748
= 350,000
Al 101,748
03 AlE 201 | 3,252 6,000 N2,748
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A2 0| 3,252,000 3,252
QEMINMNA X H=HHKHAE 628,000 1,803,500 A 1,175,500
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Al 128,000
402 BI2H X 20| M 628,000 0 628,000
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03 QI2HCH &4 AF S HI 628,000 0 628,000
OLEMIAMSHX HE=HAHAMIANE EX ALY
628,000,000& 628,000
= 500,000
Al 128,000
HFEMAAX AL A 11,745 14,644 A 2,899
201 et d| 11,745 14,644 A2,899
01 AFR 2t 2| H| 9,600 12,100 A 2,500
ONEEA Y BB TE AR
800,000& = 1CH ~ 12& 9,600
02 E222%H| 2,145 2,544 A 399
oxngssUt 1, 1179 = 82lH * 240 2,145
QEHAEECA EFZ2SAE EXAMY 650,000 0 650,000
Xl 500,000
Al 150,000
401 AlEHIZL 2 0HY| 650,000 0 650,000
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Al 150,000
01 Al&H| 648,930 0 648,930
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01 AP 2t 2] d| 7,680 6,400 1,280
OgREIN KO 12,000& = 808 * 83| 7,680
203 ¥ 2 =&XH| 18,000 8,000 10,000
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Al 1,104,000
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OHFAACHT T A AIE T g9
1,052,983,000& 1,052,983
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Al 701,983
OFFMACT WMABHE DESSFEI} »
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Al 182,500
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T AN AFS SH = Al TH A4 1} 19,250,028 14,974,845 4,275,183
Xl 6,209,000
= 60,000
Al 12,981,028
S Al XH 24 12,982,384 9,337,649 3,644,735
Xl 6,209,000
Al 6,773,384
S AITH A 22| 2,982,384 1,807,649 1,174,735
Xl 1,209,000
Al 1,773,384
Zst- 0z EH3IE S sds 43 245 AlY 360,000 142,000 A 782,000
N 180,000
Al 180,000
307 QI2t0| & 150,000 200,000 A 50,000
N 75,000
Al 75,000
05 QIZtREZ 150,000 200,000 A 50,000
O A A T2 et & 2HAA
150,000,000 150,000
Xl 75,000
Al 75,000
401 Al HI L 2 0HHI 210,000 942,000 A 732,000
Xl 105,000
Al 105,000
01 Al& H| 208,498 845,540 A 637,042
O=TLS MNAUSHGAIY 208,498,000 208,498
Xl 104,249
Al 104,249
03 AlE 21| 1,502 4,810 A 3,308
O=zds AHAEHIAIY
208,498,000 * 0.72% 1,502
N 751
Al 751
OtE " =2 Hel dASHE AFY 1,658,000 122,000 1,536,000
Xl 829,000
Al 829,000
307 2iz2to| & 100,000 50,000 50,000
Xl 50,000
Al 50,000
05 QIZ2tR E 2 100,000 50,000 50,000
OotE ™ =2 Hel AHESHIALY
100,000, 000 100,000
Xl 50,000
Al 50,000
401 Al HIZL 2 0HY| 1,558,000 72,000 1,486,000
Xl 779,000
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Al 779,000
01 A& HI 1,552,411 71,400 1,481,011
OetE e =2 JHel 4HEHSAY
1,552,411,000& 1,552,411
Xl 776,206
Al 776,205
03 Al SR THHI 5,589 600 4,989
OetEE =2 JHel 4HEHSAY
1,552,411,000& * 0.36% 5,589
Xl 2,794
Al 2,795
gF  E=22 ALH0tHe ZEMY 400,000 0 400,000
Xl 200,000
Al 200,000
307 glz2+ol & 100,000 0 100,000
Xl 50,000
Al 50,000
05 RIZt2E = 100,000 0 100,000
OYELR2 JLHOH ELAY
100,000, 000& 100,000
Xl 50,000
Al 50,000
401 A& HIZ 201 Y] 300,000 0 300,000
Xl 150,000
Al 150,000
01 A& HI 297,855 0 297,855
oOd=gd&2 ALHOHel LAY
297,855,000& 297,855
Xl 148,928
Al 148,927
03 A& S THHI 2,145 0 2,145
gFE=22 ALH0HC ZEAS
297,855,000& * 0.72% 2,145
Xl 1,072
Al 1,073
EFTAHATAEEHZSH 564,384 543,649 20,735
307 glz2+ol & 564,384 536,880 27,504
05 RIZHRIEF 3 564,384 536,880 27,504
OZAITHMHE CI2I2EZ 564,384,000 564,384
SATHA M A 10,000,000 7,530,000 2,470,000
Xl 5,000,000
Al 5,000,000
MIIS OIHRIE 28D HEINBANT X4 10,000,000 7,530,000 2,470,000
Xl 5,000,000
Al 5,000,000
307 212+0 & 100,000 130,000 30,000
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05 RIZHRI &3 100,000 130,000 A 30,000
OZAMMY dEXY A&2ds T2 )8 e
2 29 100,000, 000& 100,000
Xl 50,000
Al 50,000
401 Al HI & 28I 9,900,000 7,400,000 2,500,000
Xl 4,950,000
Al 4,950,000
01 A& HI 7,882,000 7,392,000 490,000
O AT HE A 7,882,000,000& 7,882,000
Xl 3,941,000
Al 3,941,000
02 Zeltl 2,000,000 0 2,000,000
OZATHAY & ALY 2,000,000, 000& 2,000,000
Xl 1,000,000
Al 1,000,000
03 AIE 2 0H bl 18,000 8,000 10,000
OZATHY A 18,000, 000& 18,000
X 9,000
Al 9,000
HEZA A4 145,880 162,204 216,324
HET ALY 22 145,880 162,204 A 16,324
kT&G 2cl2% 145,880 162,204 N 16,324
201 L2l 140,680 138,004 2,676
01 At 22l 64,780 54,544 10,236
OHJAZE 1=t 120,000& » 2% 240
OFZBH3 23102 980,000& = 13l 980
Oz AWB2AGHL4E
200,000& = 208 = 12& 4,800
OXIIHEUYE == 1,300,000& = 12& 15,600
ogstels= 1,200,000& * 128 14,400
OANHEE BIIBE ===
11,000,000& * 23l 22,000
ORoAH ==& 300,000& = 12& 3,600
O AT HEAY =& 3AMHF ME
5,000& = 202 » 12& 1,200
OZAHM SEAY =& EE3 L 203 M
z 1,960
OXtg ¥ BN & R
5,000& * 502 * 33 750
Ot 2= 500& = 2,000% 1,000
O8=s+9 70,000& * 33| 210
02 =224l 75,900 83,460 AT,560
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OKT&G st & e X 2oz 100,000& 100
OKT&G A€ 2 R AIH| 20,000,000 20,000
202 04l 3,200 3,200 0
01 = LH YI 3,200 3,200 0
OZATHA HZAY EM3FX
20,0003 = 49H 40 3,200
203 YR =] 2,000 0 2,000
03 Al =X AR =LY 2,000 0 2,000
OZATHY 2R =2 2,000,000& 2,000
SAYLEHSZZHIAL 2,526,836 2,133,564 393,272
< 60,000
Al 2,466,836
FAHEE N A 260,000 1,013,353 A 753,353
< 60,000
Al 200,000
=S 60,000 60,000 0
307 21201 A 60,000 60,000 0
02 It S AHE L 60,000 60,000 0
OvIEHH « HIISHM2IHE X
1,000,000& * 60= 60,000
OSH 2% 2 86 Z4MY 200,000 0 200,000
= 60,000
Al 140,000
401 AIEBIZ 28I 200,000 0 200,000
< 60,000
Al 140,000
01 A& Hl 198,570 0 198,570
otusd Z& 2 aH ZHAMG(14])
198,570,000& 198,570
< 60,000
Al 138,570
03 Al 20 HI 1,430 0 1,430
ot=x 2 2 #H &MY
198,570,000& * 0.72% 1,430
ZETHHLY ¥ WAS ALY 2,266,836 1,120,211 1,146,625
79 2el 7,490 25,490 A 18,000
201 YEtS | 6,490 24,490 18,000
01 At 22l 6,490 24,490 218,000
O=2&d3 =% M 70,000& * 73l 490
oxo=E=228 M= 600& * 2,500% * 43| 6,000
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203 YR =&l 1,000 1,000 0
03 Al F=XH R =AH| 1,000 1,000 0
OFHI7Y gRF2 1,000, 000& 1,000
B (H O FHIAY 50,540 50,540 0
401 A& HIZ 201 Y] 50,540 50,540 0
01 A& HI 50,000 50,000 0
OR&FH & =X&EZ4H 10,000,000& * 5= 50,000
03 Al 2 THHI 540 540 0
ol EH ¥ F=X& =4
50,000,000& = 1.08% 540
HoHg - A= oM=< FdlHE =8 9 180,000 0 180,000
207 RO 180,000 0 180,000
01 A7 39 180,000 0 180,000
OMIMNL - A= oM+ U HE =8 ES
180,000,000& * 1A 180,000
A7 JIBHAIE FHIAMY 1,231,732 688, 268 543,464
401 Al HIZ 201 8] 1,231,732 688, 268 543,464
01 A& HI 1,227,313 684,242 543,071
O3MHI(E2 ¥ ot=S=HH|l L=1,756m)
1,227,313,000& 1,227,313
03 A& =2 THHI 4,419 4,026 393
OAIE 2 HHI 1,227,313,000& * 0.36% 4,419
gFE2 7 JIBAIE FHHIAY 797,074 355,913 441,161
401 AIEHI L 201 797,074 355,913 441,161
01 A& Hl 791,972 353,537 438,435
OSAHI (FXHE =4) 45,000,000& 45,000
O L2 &l 746,972,000 746,972
03 Al S HHI 5,102 2,376 2,726
OAIE S THHI 45,000,000 = 1.08% 486
OB ST 4,616
OLHEIN+22
564,000,000& * 9/10,000 * 204 J| & 1,016
OsSJIEE =2 200,000& = 6Z X 1,200
OZAHsEr=R 400,000 = 6Z X 2,400
HE2AZH (SAIHEAIE S S AITH A 1) 44,928 41,428 3,500
JlE &3l 44,928 41,428 3,500
JlE&l 44,928 41,428 3,500
201 LB-2d| 18,868 18,868 0
01 At 22l 18,868 18,868 0
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OJIEZHl (S &Y 8,568,000 8,568
EaT=z0Y 150,000& * 12& 1,800
202 oddl 18,360 18,360 0
01 = LH o4 1l 18,360 18,360 0
OJIE&l 18,360, 000& 18,360
203 YR =2t 4,200 4,200 0
04 FN2EYEF 4,200 4,200 0
O©J| & (302!0l38t) 350,000& = 12& 4,200
405 XHoHF S HI 3,500 0 3,500
01 AL EZFH S 3,500 0 3,500
OZgH(A3ZE 3,500,000& * 1CH 3,500
HEES (T AN A 3,550,000 3,300,000 250,000
HEAHHK = 3,550,000 3,300,000 250,000
HEHH X = 1,000,000 700,000 300,000
702 JISEEZ 1,000,000 700,000 300,000
0MNII3dEES 1,000,000 700,000 300,000
OZANX=HEE FHlJIs dES
1,000,000, 000& 1,000,000
KT&GE At = &f & 2,550,000 2,600,000 A 50,000
705 ==2cl=4 2,550,000 2,600,000 A50,000
01l 34ase 2,500,000 2,500,000 0
OKT&G = X 0H & S & &
2,500,000, 000& 2,500,000
02 Ol === 0l At &t & 50,000 100,000 A 50,000
OKT&G = XI O & af g
50,000,000& 50,000
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SANLAL S BBALD 26,271,918 13,705,332 12,566,586
J| 48,000
Al 26,223,918
SEH FAMN 28 & 2| 5,939,558 3,368,536 2,571,022
J| 48,000
Al 5,891,558
HEE 22EE =4 5,939,558 3,368,536 2,571,022
J| 48,000
Al 5,891,558
HEE FAFX 22 2,101,304 2,128,804 A 27,500
101 @124l 14,911 0 14,911
4 JI2ZtHZ22 s+ 14,911 0 14,911
O=stal & Ald2e 8y
51,800& * 262 » 10& 13,468
O=stsla Aldae o8 BE2(0I28432) 1,443
O=8d¢3 13,468,0002 * 4.5% 607
OnE:Ed 13,468,000& * 1.5% 203
OMTHESH 13,468,000 * 1.42% 192
(OFaR=g-g= 13,468,000& * 3.06% 413
OFIRAEHE 413,000& = 6.55% 28
201 LBH2d| 1,564,108 1,612,210 A48,102
01 At 22l 650,485 644,445 6,040
O el 9,280
Oges 88X +¢ 780
-AE Y, A3JIs 100,000 * 2@ 200
-&A 32X 70,000& ~ 18 70
-AE 80,8 B4 50,000& * 33 150
-EtEE 30,000& = 123 360
O2&39a, Zatalat, 2AL HE MEHI
1,300,000& =* 23] 2,600
ONZA, SAFA, A4 g4 2
15,0002 * 404 600
OAN&ds2el 85 7Y 100,000 * 53| 500
OgRE AH 1,000,000& =* 23| 2,000
OEM=EIAMN £HEZFL 700,000& 700
OFA 2HUHE HHl 300,000& * 7oA 2,100
OFALAIZ 22l & W=l 1,600
o X2e s 100,000& * 19 100
OJtA LBHAIE ot 2te] WS
500,000& * 1¥ 500
O&EIIANE el WS 300,000& = 29H 600
OAgortd2te| It WE 200,000& » 24 400
O&EAMZe = 113,525
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M SAMNLAEE SSAIL
Hu: s8N0 HA 2% 2 B
ool ARE 22BY T4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
28 &6t 23 4,500,000 x 12& 54,000
-23tsl & otk 2=
700,000& = 12& 8,400
252 A 2eldl 2 ZAJARE
500,000& = 12& 6,000
=28 S| YRE=S  6,500,000& * 23] 13,000
-Z3s 2 nwsRLdRY3
1,600,000& * 23| 3,200
-dDletd 2tel E 8l 150,000& =+ 23l 300
-2 Y 2552 AYAH Y|
400,000& = 23 800
Ogas &= 7,000,000& = 123 84,000
Ogas Hdot+=ER23 500,000& = 12& 6,000
OFA HHAZHI(ZAIDLA)
16.84& = 7,250MJ = 8AI2F » 105 102,556
OFZ ZHl4d HAE H=HI(LPG)
25,000& * 18 ~ 12& 300
OFZ ZHl4 HLHZHI(SR)
7223 * 2218 * 16AI2H * 1052 2,426
OHl&4ZdI HEHI(ZR)
1,117& = 5002/ H » 15 8,378
OA & &EHl= X bl 102,263
OHFMASRAL (22, T, 9J3ls, 2AH) 79,073
=23 4,661 » 2,639m 12,301
-=2s 4,661& * 5,233.15m 24,392
—2asdEs) 2,303& = 1,332.8m 3,070
-SES 2,303& = 1,408.56m 3,244
-9l3 s 4,6613 * 4,221.49m’ 19,677
-gas 4,6613& = 754m’ 3,515
-2t AL 2,303& = 110m’ 254
-Z st & 4,080& = 3,093m’ 12,620
OFE MU 0012 S 60,000& = 170CH 10,200
OFAMU OIAH EE &
77,000& = 120CH 9,240
O2& % &3ta& CCTVs Xl
250,000& = 150H 3,750
203 R =&l 2,000 1,000 1,000
03 Al ZZ 2= A Y| 2,000 1,000 1,000
O33ANE gR2=2 2,000,000& 2,000
206 = Hl 78,656 78,656 0
01 M2 4l 78,656 78,656 0
OFA 2e2lE3 78,656
OHLEEZ(SHEXN 2 78) ¢
150,000& = 88 = 128 14,400
o=2gd F2H + 8,000& * 800kg 6,400




M SAMNLAEE SSAIL
Hu: s8N0 HA 2% 2 B
ool ARE 22BY T4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O E2H 724 8,000& * 500kg 4,000
OfIMHTAIL T (LEE 2 198) 7
50,000& * 20& 1,000
OANEE A=elAE XN 2L
100,000& * 20& 2,000
O&d & ZHE 2¢ 1,300
-HH 5,000&  200m 1,000
-ZHE 30,0003 » 10%A 300
OLEDS II 7 & (50W) 170,000& * 30K 5,100
OF&8XHI +¢ 2,980
—-20A 50,0002 * 5K 250
-30A 70,000& = 9K 630
-75A 140,000& * 107K 1,400
-100A 140,000 * 54 700
Os&) gstzs 2 10,000& * 100 1,000
OLYANE T 7 1,500
st 2 Xl Dl 10,0002 * 504 500
-33 2 48 200,000& = 504 1,000
OS&A AMNRA 34 22EE 2 15,096
-2J| e 12,000& » 35004 « 128 5,040
-BHIIAIE A 13,0002 » 460 « 128 7,176
—H SR A 15,000& * 1600 = 12& 2,880
oXglInasSs #¢
1,800& = 3000# = 123 6,480
Ogas1,g2as2, 2532 2eES
150,000& = 88 = 12E 14,400
OxgtedFH 82+ 100,000& * 5& 500
OAZE HR2ACEB A4S
100,000& » 5& « 53l 2,500
401 AIEHI L 2 CHYI 388,629 389,958 21,329
01 A& HI 385,850 387,170 21,320
OFHEAMU 2YAE SAES
5,000,000& * 5= 25,000
O, =8I, A, HHAE RANE>
5,000,000& * 5)H& 25,000
OFEA A%, Ald=2 E=
5,000,000 * 2000 A& 100,000
O&UW MII4H E=+ 84,350
O EH L b & B 2,500,000& » 5¢H 12,500
O&F Az M Bt 350,000& » 1500 4 5,250
OMNRA e 1,400,000& = 3504 & 49,000
OAMEY ZHEH 2= 220,0003 » 8044 17,600
o022 M= 1,500,000& * 5& 7,500




EN: TAHEASE 22 AL
Hu: s8N0 HA 2% 2 B
Sl WHE 228Y T4 CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OF=X&HAIAE SK22
1,500,000 * 20 3,000
ONSA U TEM 2 Ruat 44
2,000,000& = 1004 1t 20,000
OFAF LH AR A =8 Z At
10,000,000 = 4JH 1t 40,000
OFRUAIE SHHINE B A 32,000
OAHE B At 22,000,000 * 14! 22,000
OHFEI|Z2 At 10,000,000& = 14l 10,000
O0lJAa SHIMNEZA 49,000
OAHAEZ At 46,580,000 * 14! 46,580
OHXEI|Z A 2,420,000& = 1A 2,420
03 Al 201 Y| 2,779 2,788 A9
OFAMNAEE RAEL 20H]
385,850,000& * 0.72% 2,779
405 XH&HF S HI 53,000 43,260 9,740
01 XAt = EF S HI 53,000 43,260 9,740
OFW AIR4 & el 53,000
OAMNEE HA(2Z2IXE) 600,000 = 54 3,000
OAMNEE HAH(AMLZXER) 200,000 = 4004 8,000
OANRE o (22l XE) 500,000 = 100K 5,000
OANRE2 (A=) 300,000 = 3074 9,000
O0lss Mg 200,000 = 3004 6,000
Oyl 300,000& = 2074 6,000
OHIAZIE Y 800,000 = 2074 16,000
SEHO SHEA X2 855,995 904,349 N 48,354
202 04| 3,000 3,000 0
01 2Ll 3,000 3,000 0
OEXdH2IUA S AMEZAH Y H20H|
20,000 * 3% = 50 3,000
401 A EHI L2 O 828,495 901,349 ~T72,854
01 Al&H| 823,308 895,706 NT2,398
O5 - -H - -SEAN HIANESE KAES
840,0008 * 43 = 36,120
O -H - STEA HSAEE FANES
3,500,0008 * 434 = 150,500
OF -H - - SEHA M2 L JIHEH S
= 700,0008 * 434 = 30,100
OF0IHE At 22lg A& e el &
Xl 5,000,000& * 7= 35,000
OHdots FOMEH SHHIMAZA 30,000
OZXEEX & AUR B4
80,0008 = 120= 9,600




M SAMNLAEE SSAIL
Hu: s8N0 HA 2% 2 B
ool ARE 22BY T4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAMU & met &X
10,000,000& * 1JH 2 10,000
OFEMU S HtEA AlIZ
130,000& * 80m’ 10,400
0822 FCMH LED S WHIA 33,880
OLED =28 &X 220,000& = 15404 33,880
O=His =CdH S2EH SAt 55,660
O=x& otax2 X & 35,000& = 428m’ 14,980
Oo=24 g 58,000& « 460m’ 26,680
OgH 2= 140,000& * 100m 14,000
O=thes FCHH MO X SA
330,000& = 60m’ 19,800
O=s%1s FDHMH LED ¥S WA SA 20,020
OLED =9 A&X 220,000 * 914 20,020
O=g81s FoHH 23 EHHl SAM 30,700
Oltnet, #x &X 16,000,000& * 14 16,000
Oodte & ti=2 &l 8,000,000& =« 14 8,000
Ostet & === FHl 6,700,000& * 14l 6,700
OMES P)F0IHME SHEA U 3A 30,000
01,28 at&4a g&3&dl
2,000,000& = 15m’ 30,000
OSHES At 228 BiXIo ME e =&
S A 73,000
OLLHMEL 3,000,000& * 14l 3,000
Ogdis =L 4dg 15,000,000& * 14 15,000
OESMEL 3,000,000& * 14l 3,000
Odstiidl=gs FoHH
22,000,000& * 14l 22,000
O=sl1s =a4dg 30,000,000& = 14 30,000
OU=SAIRA 22L& I A 75,012
OzH=, #ISA 133,000& * 564m 75,012
OLESARA 22 IA 100,016
OzH=, EISA 133,000& * 752m 100,016
O022E=s FLUMHH 248 cIZE2EIA 75,000
O FAAWE &3 150,000& * 500m 75,000
OL-=&dltH& ol2stAl =Xeldl &X
9,500,000& =« 3CH 28,500
03 A& = THHI 5,187 5,643 A 456
OSEAL AId=2 =83 A 20HI
823,308,000& * 0.63% 5,187
405 XHoHE S HI 24,500 0 24,500
01 AL ESFHSH 24,500 0 24,500
OAMdlZele A0 IE AFRA I (7H
g) 24,500




M SAMNLAEE SSAIL
M S EH FA 2Y & 2l
Sl WHE 228Y T4 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMNSRE HA (MR 200,000& = 3504 7,000
Oo0lsa MEH 200,000& = 3504 7,000
OANRE SRHARXIH) 300,000& = 3504 10,500
2ES FUMH M= 143,008 0 143,008
401 A& HIZ 201 Y] 143,008 0 143,008
01 A& HI 143,008 0 143,008
OR=s =QHEH AE S AL A4
3,280,000,000& * 4.36% 143,008
SEMES FULH MU= 2,300,000 216,568 2,083,432
401 Al HIZ 201 I ,300,000 216,568 2,083,432
01 A& HI ,300,000 216,568 2,083,432
OsgMES F2 ZZ AtHI (29 Xt)
2,300,000, 000& ,300,000
oSS EHEZE ¢ 435,054 0 435,054
401 Al HI X 201 435,054 0 435,054
01 A& Hl 435,054 0 435,054
o2dbES Y M= 435,054
OfX € 2= U
696,752& = 499.46m 348,000
OZEEItdl 945,000& = 300 At 2,835
OSJIEE+r2 50,000& » 12X 50
O=&H| 2,790% « 186.5m 521
Ous EH 184,000& = 355.06m 65,332
OZ2Y &l 288,431,000& * 6.35% 18,316
AITHAS Ol LA X1 K194 X1 84 AL S 104,197 0 104,197
J| 48,000
Al 56,197
401 Al HIZ 2018 104,197 0 104,197
J| 48,000
Al 56,197
01 A& HI 96,000 0 96,000
Od3fe == B BHa 28AE &
Xl 64,000,000& 64,000
J| 32,000
Al 32,000
OAtE s =eldH LAIE &EX
32,000, 000& 32,000
J| 16,000
Al 16,000
02 2eltl 8,197 0 8,197
Odslfiel=eas, AEs FRHH B &
A" AXSA Zeld 8,197,000& 8,197
HEL2IAZH(SAINEAEHE SSAIE D) 332,360 336,796 A4,436




2N
X ZH -
L= B

el

SAOHEAISE SSAIE D
HE2LZH (STANLAISE B2 AL

Jl=23tl

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Jl =23t 45,880 50,048 N4, 168
Jl23Hl 45,880 50,048 N4, 168
201 LEr2 Y| 20,080 22,088 AN 2,008
01 At 22l Yl 20,080 22,088 A 2,008
OJege sadstsHd (JI=&Y])
10,000,000& 10,000
oZ=EHl (JI=dHdl) 10,080,000& 10,080
202 4] 21,600 23,760 AN2,160
01 2LHOHI 21,600 23,760 AN2,160
©J| =& bl 21,600,000 21,600
203 R =&Y| 4,200 4,200 0
04 ENSI IR =AY 4,200 4,200 0
©J1=&HI (302! 0]at) 350,000& = 12& 4,200
ol 2yl 286,480 286,748 A 268
ol A H| 286,480 286,748 N 268
101 @121 | 286,480 286,748 N 268
1B RIHA22TES 286,480 272,856 13,624
OF AN 286,480
ods 149,314
-254 Xt 2,342,490 * 29 * 128 56,220
-164 Xt 1,999,250& * 2% * 128 47,982
-134 Xt 1,884,840 » 14 * 12& 22,619
-124 Xt 1,874,400& *~ 1H * 128 22,493
oY 83,787
-tESY 70,0008 * 6 x 12& 5,040
—HrE G 100,000& + 1Y » 12& 1,200
- I2Ez2SY
16,6203 * 20Al2t » 6 * 12& 23,933
—FUIZRY
16,6203 * 8BAl2F » 69 « 40 31,911
ERSPNESE=, 88,6403 * 6 x 20 10,637
2544 103,690 ~ 6 x 12& 7,466
==y 50,000& + 69 » 12& 3,600
OXtH & Xt =2 3,723
-1 SsHM 465,330& * 43| » 2H 3,723
OY &SIyl 1,347,960& » 6YH * 23] 16,176
[Or==1:l 150,000& * 69 = 12& 10,800
[@FnE=:]! 150,000& * 6Y = 12& 10,800
OJtA X & HI 150,000& + 69 = 12& 10,800
Ol =yl 90,000& * 2& * 6Y 1,080




2N

4

SADHE ALY &

wx 0p

SAIE
)

H: NPES(Z22A4
e LHEHHX S (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
MEEES(23AMED) 20,000,000 10,000,000 10,000,000
WEAHAH XK= 20,000,000 10,000,000 10,000,000
HAIHE D2 20,000,000 10,000,000 10,000,000
702 1282 20,000,000 10,000,000 10,000,000
MoIsdE2 20,000,000 10,000,000 10,000,000

OFANHE D2 82 20,000,000,000& 20,000,000




